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Explanation:
I need to find out how many slices of pizza were not eaten by these 5 friends.  I know they had 2 pizzas cut into 12 equal slices.  Each person ate a fraction of the pizza.  First I turned the fraction that each person ate into whole numbers.  For example, Joe ate ½ pizza.  ½ of 12 slices is 6 slices   It is easier to add whole number then to add fractions.  Then I added the five whole numbers of slices and got 18 slices total.  This is the number of slices ate total. Also since each pizza had 12 slices and there were two pizzas, I multiplied 12 x 2 to get the total number of slices.  Since it asked me how many slices of pizza were not eaten by the five friends, I subtracted 18 from the whole- 24 slices.  I got 6 slices which meant ½ of one pizza was not eaten by the five friends.  6 slices were not eaten by the five friends.
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Five friends bought a total of 2 pizzas. Each pizza was cut into 12 equal slices. The amount
of one whole pizza each person ate is shown below.

Bill:

1
Sue: 2

W=

1 1
Mary: 2 Kim: 3

1
Joe: 2

How many slices of pizza were not eaten by these 5 friends?

Show all your work. Explain in words how you found your answer. Tell why you took
the steps you did to solve the problem.
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Explonation:

1 need to find out how many slices of pizza were not eaten by these 5.
Frends. 1 know they had 2 pizzas cut Into 12 equal siices. Each person ate.
a fraction of the pizza. First 1 turned fhe Fraction that each person e
Info whale numbers. For example, Joe ate % pizza. % of 12 lices s 6
sices 1t is easier to add whale number then 10 dd fractions. Then |
added the five whole rumbers of slices ard got 18 slices fotal. This is the
number of slices ate fofal. Also since each pizza had 12 slices and there.
were two pizzas, T multiplied 12 x 2 fo get fhe fofal number of slices. Since
it asked me how many sices of pizza were not aten by the five friends, 1
subfracted 18 from the whole- 24 slces. 1 got 6 sices which meant ¥ of
one pizza was not eaten by the five friends.”  sices were not saten by the
Fve Friends.



